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1. uderdF omr v UFs uv orgar 1. Candidates must enter his / her
Question Booklet Serial No.

7o gieaar mHis (10 6l F0) (10 Digits) in the OMR Answer
i Sheet.
v ferd |

o gurEl qurgys 393 vl H & 2. Candidates are required to give their

answers in their own words as far
Sw T/ as practicable.

3. e AR gIRTd W fd gg sfw goifes 3. Figures in the right hand margin

indicate full marks.
fafse #vd &1
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SEEMANCHAL ACADEMY

A w o g@dw wgd & R 4

15 Rz &7 sifafes qog far 7 &

IE 9997 51 @Uel 4 & — @u-ar ug O

LHug-5/

15 minutes of extra time have been
allotted for the candidates (0 read

the questions carefully.

This question booklet is divided inlo

two sections — Section-A uand

Section-B.

6. WUS-37 | BOa?ijﬁB neT é;l 5’?13’ g ©. In Section-A, there are 80 objective

=T 409t BT F7v 3 &1 WRF &
fore 1 s Fifta &1 3 #¢ el
40T 3t/ yvaT &7 3% o7 & A1 guT

40 ¥l & IR T B qodisd Enm

37991 St¥ J9cid U9 T OMR ITiH-
USF T 137 7T el faeeq & Ale/FTe
Fi7T 97 § W/ fwEl W 5@ &
EaTEEAT / aver UgTd [/ &S/ ArET
37T &T OMR IF-9HEF § TAHT FHe=T
oA g, or=gur wilar uRkvnw smry

g

type questions; out of which any
40 questions are to be answered.
Each question carries 1 mark. If a
candidate than

answers more

40 questions, then answers of first
40 questions will be evaluated only.
Darken the circle with blue / black
ball pen against the correct option on
OMR Answer Sheet provided to you.
Do not use whitener / liquid / blade
/ nail etc. on OMR Answer Sheet;

otherwise the result will be

invalid.
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SEEMANCHAL ACADEMY

7. QUS-T H 24 oy FIT gy #1 7@ 7. In Section-B, there are .24 short

8 W7 W% v &, 8 WvT T

VI % U9 8 Wy Wi faaT ¥ &1

e [ (wifas v, vara e
ved Wa fmm) @ ww-aw gv wr
ST R &1 FF & forw 2 s FiRe
&1 e ofife z@ @ve §F 6 A
Iwig 77 3 v §, e | 2 wew
Yifdes ST &, 2 99T THIET 9T &
vq 2 ¥y wia famm & &1 wifaw
e & FAF §iH I T & forg
6 3%, THIGT I US wia faarT &
foe 5 sfF fmiRa &1 9% favg
(A e, TET e ud S|
A @ vE-UF 97 &7 IR o
et &1

. frg! yeR @ ol Syee @ S

53T quicEr afd &

answer type questions. Out of these,
eight questions are from Physics,
eight questions are fron} Chemistry
and eight questions are from Biology.
Four questions are to be answered
from each subject (Physics,
Chemistry and Biology). Each
question ca'r;'ies 2 marks. Apart from
these, there are 6 Long Answer type
questions in which two guestions each
from | Physics, Chemistry and
Biology are there. Long Answer type
questions _frolm Physics carries
6 marks each, and from Chemilstry
and Biology carries § marks each.
Answer of one guestion each from

Physics, Chemistry and Biology is

compulsory.

Use of any electronic appliances is

strictly prohibited.
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SEEMANCHAL ACADEMY

WUEg - A / SECTION - A

TS W9 / Objective Type Questions

TV WA 1% 80 A% AT Wy &1 39§ et 40wyt @7 I3 &1 9AF AT
¥ @ O e Ry 1v § e @ ve wet 81 e grr g e a@@ fweq @t
OMR ¥z v fafgqa &9 40 x 1 =40

Question Nos. 1 to 80 are.of objective type. Answer any 40 questions. Each que‘stion_has
four options out of which only one is correct. You have to mark your selected option on

the OMR sheet. 40 x 1 =40
1, iy ST g 8

(A) RS (B)  3TURSIH

(C) URYTHH D) T A

Oily paper is

(A)  Transparent (B) Opaque

(C)  Translucent (D) None of these

(H-1)112J 1001-Js0) - Page 4 of 44




SEEMANCHAL ACADEMY
5 ol TR 3 AU F SI TR T ?

(a) (B) T
© T (D) W foEA
What is the S.I. unit of magnification by lens ?
(A) m (B) cm
& mm JDY  unitless
() gieil & B PRy gt &
© (3R @I (O) T A W A
Speed of light in different mediums is
(A)  cqual (B) different
(C)  both (A) and (B) (D)  none of these
4. =g Y eI S A6l et el ST9eT Bl ¢
(A)  <hH (B) | SqI_T

(C) |EH (D) T &I 77

(H-1)112J | 1001-J(s0) Page S of 44




SEEMANCHAL ACADEMY

Speed of light in air in comparison to vacuum is

(A)  less (B) more
Q) cqual (D) nore of these
/5: o o & iy hI G el §
A 1 JP" 2
€ 3 D) 4
Number of principal foci in lens is
a) 1 B 2
c 3 D) 4
6. foxga &1 oT=aT 9 ©
@ e B) wREH
(C) A )x{) qigr
Good conductor of electricity is
(A) Wood (B) Plastic
(C)  Carbon (D)  Silver
(H-1)112J 1001-J(s0) Page 6 of 44




SEEMANCHAL ACADEMY
7. Y& 9ol ® U7 Tei9LIS o1 BT 8

(A) e (B) e
(C) T D) T AR T
Ncgative clectrode in dry cell is made of
(A)  Copper (B) Carbon
(€)  Zinc (D)  None of these
8. 15T &I OH & &
(A)  0-24 HART (B) 418 &Rl
(C)  0-42 FeRl (D) 2-4 HEART
value of 1 joule is
(A)  0-24 calorie (B)  4-18 calorie
(C)  0-42 caloric (D)  2-4 calorie
0. IR TR & foTT HH-|1 U7 UG BT & ?
(A) ST YT (B)  HHGS SYUT

@ FHerae g9 (D) TAH ¥ FIg Tl

(H—I) 112J FIOOI—J(SO) I Page 7 of 44




SEEMANCHAL ACADEMY

Which mirror is used for shaving ?
(A) Convex mirror (B) Plane mirror

(C) Concave mirror (D) None of these

107 AT W Svisms 3 few 1 $t fewor w1 frae sfuE e e ?
(A) T (.B) 2
() diew ) T
The deviation of which colour of ray is the maximum in white ‘ligl"lt spectrum ?
(A) Red (B) Green
(C) Yellow (D)  Violet
11. AT YT i hihd g3t Bl &
(A) 3 B I
(C) 100 cm (D) 50 cm
Focal length of plane mirror is

(A) infinity (B) Zero

(C) 100 cm (D) S0 cm

(H-I) 112J 1001-J(s0) Page 8 of 44 *




SEEMANCHAL ACADEMY

12. ST AT & WO G H HeT @1 WG il HefE geel, i 3R 9

AR & a7 2
(A)  HIW (B) I W
JO) TR F R W (D) HIFHT W

A concave mirror gives real, inverted and same size image, if the object is placed
(A) at pole _ (B) at infinity
(C) at centre of curvature (D) at focus

18- AR & ferfeq = &1 SR €

(A) IgHeE™E e (B)  Hel WrecH

\(}}/ FrgHEeE 39T (D)  HeT T
The twinkling of stars i1s due to
(A) Atmosphecric Reflection (B) Total Reflection
(C) Atmospheric Refraction (D) Total Refraction
14, THT 99 & foly gftz o1 wiae g &
(A) 1/10 scc (B) 1/16 scc

A<} 1/6 sec (D) 1/18 scc

(H-I)112J 1001-J[50L] Page 9 of 44




SEEMANCHAL ACADEMY

The persistence of vision for human eye is
(A) 1/10 scc (B) 1/16 sec
(C) 1/6sec (D) 1/18 sec
15.  ITeT UV | ST HIoAeD Wit gl §
(A)  ET e et (B) el T HEEd
(C) Hr ue girad (D) H § HIE Tl
Virtual image formed by convex mirror is
(A)  erect and magnified (B) inverted and magnified .
(C)  erect and diminished (D) none of these
16, AT G S SEEA (m ) TEK oIl &
(A) v/iu (B) uv
(C) u/v (D) u+ vy
The magnification ( m ) of concave lens is equal to
(A) viu (B) uv

(C) u/v D) u+v

(H-I)112J 1001-J¢s0) Page 10 of 44




SEEMANCHAL ACADEMY
17.  *ET & 9ifay 3 §

(A)  CO, #HRH,O (B) CO, ¥R Foil

(C) H,O0 3R Hul (D) CO,,H,0 R Sl

Lasl product of rcspiration is

(A) CO, and H,O (B) CO, and energy

] H,0 and cnergy (D) * CO,,H,0 and cnergy
18. i @ Gad ST WA ©

a) e (B) A

(€ R (D) WIS,

Uppermost layer of teeth is

(A) Dentine (B) Enamel

(C) Bone (D) Crown
19,  TFE HERR A 1 GEd o= 9 €

(A~ ST ' (B) BRI A

()  UTGel (D) e 3fd

(H-1)112J [1001-Jis0) | Page 11 of 44




SEEMANCHAL ACADEMY

Longest part of human alimentary canal is
(A)  Stomach (B) Small intestine
(C)  Oesophagus (D)  Large intestine
20. WIRY = H O fFae st s ¥ 2
(A) ROT-HN B) IERE
(c) af D) afEr
Pollen grains are formed inside
(A)  Anther (B) Ovary
(C) Style (D)  Leaves
21. el AfeieRd g S €
(a)  Sige o (B) o™ o
€ A (D)  Uehehifershtar gl
Sieve tube is found in
(A)  Animals (B) Xylem

(C) .~ PI_*)locm (D) Unicellular plants

(H-1)112J 1001-J(s0) Page 12 of 44




SEEMANCHAL ACADEMY

22. R.B.C. &I Sig-a/afy aid) &
A) 120
) 8ofg
Lifespan of R.B.C. is
(A) 120 days

Q) 80 days

(B)

(D)

(B)

(D)

23. AT IR F Gad e ST &

(A)  3TRJ hifern
o T
Longest cell of human body is
(A)  Bone cell
(C) Ncuron
24, 3] FeTEd gaT ©
A TAHEH

) IJeREH

(B)

(D)

(B)

(D)

(B)

(D)

180 g

220 {57

180 days

220 days

Uit =hiferehT

e 9

Muscle cell

Master cell

THRE H

heAltug Aferer o

(H-I)112J 1001-J(s0)
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SEEMANCHAL ACADEMY

Ovum is fertilized in
(A)  Vagina (B)  Uterus
{ef"  Ovary (D) Fallopian tube
25. foum dus R & fom form oot & o HT ST RAT € ?
(A) T (B) q"lﬁFf
(C) ™ =T (D) T ¥ wIS @l

Rod of which of the following substances is used to make electromagnet ?

(A) Steel (B) . Brass

(C) Soft iron (D)  None of these

26. o fenelt =oreh AR @ R umT vt @ & A hveher wor e ¥ 2
(A) U] (B) &
€ R (D) TR
The moving particle in a conducting wire carrying electric current is
(A) atom (B) ion

(C) proton (D)  electron

(H-1)112J 1001-J(s0) Page 14 of 44




SEEMANCHAL ACADEMY

\}7/ 9w Eg g
(A)  V=IR
(C) V_-I’R

(B)

(D)

(B)

(D)

(D)

The S.I. unit of potential difference is

(A) joule
(C) ampcre

20, 3R I U BT @
(a) B

(C) =gd B

(B)

(B)

(D)

watt

volt

T | HIE TN

(H-I)112J [1001-Js50)
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SEEMANCHAL ACADEMY

The resistance of Ammeter is
(A) small (B) large
(C) very small (D) none of these
30. forep == w1 fremle frer & @ frw wg ST AT ¥ 2
(a) e (B) R
(© Er 9/ STRA
The filament of electric bulb is made of which metal ?
(A) Copper (B) Nichrome
(C) Lead (D)  Tungsten
31. RARewm R HTT ?
@) e e o ®) o o §

ywmqﬁnmﬁqfamaﬁr D) T ¥ wE T

(H-1)112J 1001-Jgso) Page 160144




SEEMANCHAL ACADEMY

The purpose of rhecostat is
(A) to increase the magnitude of current
(B) to decrease the magnitude of current

(C) both to increasc or decrease the magnitude of current

(D) none of these
bﬁ;/’iﬁqaamiﬁ6HSJﬂmﬁﬁﬁmT%
(a) T (B) am

() S )WW

S.1. unit of clectric charge is
(A) volt (B) ohm

(C)  jule (D) coulomb

_f Ca(OH), (B) CaO

(€) caco, B ~Ex

(H-1)112J I]OOI—J(SOJ Page 17 of 44




SEEMANCHAL ACADEMY

The slaked lime is
(A)  Ca(OH), (B) CaO
(Q) CaCO, (D) Ca
34. T dPm wmaiY )
(A) CaO JB]  NaCl
(C) NaOH (D) Na,CO,4
Which of the following is not a base ?
| (A) CaO (B) NaCl
(© NaOH (D) Na,CO,
35. STl I 3GE &
@A)  fEEEr (B) T =is
(c) drEEE (D) Wifeaw FRES
An ore of zinc is
(A)  Cinnabar (B)  Zinc blende

(C) Bauxite (D) Sodium chloride

(H-1)112J 1001-J(s0) Page 18 of 44
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38.

SEEMANCHAL ACADEMY

(A) W (B) ¥

(C) 39U Py fersremg
Silicon is

(A) Metal (B) Non-metal
(C)  Metalloid (D)  Alloy
TeRieer § SH-|T d ST TRl 8 2

(A) A (B) s
(© eSS D) SIEEARE]

Which of the following elements is not present in an alcohol ?

(A) Carbon (B) Oxygen

(C) Hydrogen (D) Nitrogen

THoHTge 3] &l 9T AH &

(A)  HitHE® 37 (B) UHRRE 37T

(C) CRAINH 3 (D) TIRIH A

(H-I)112J 1001-J(s0) | Page 19 of 44




SEEMANCHAL ACADEMY

Thc common name of methanoic acid is
(A)  Formic acid (B)  Acetic acid
(C)  Tartaric acid (D) Lactic acid
39. WU 99T & A0 revEe &
(A)  FRIG (B) I SREEIES T ST
(C) I & WEET D) T
Necessary for autotrophic nutrition is
(A) Chlorophyll (B) Carbon dioxide and water
(C) Sunlight (D) All of these
40.  HHIeET T ST €
(A) AR o (B) T T HoT
() =it T | D) A T o A
Magnesium is found in

(A) Chlorophyll (B) R.B.C.

(C)  Chloroplast (D) WBC.

(H-)112J 1001-Jso) W




SEEMANCHAL ACADEMY

41. frAtafas o w=-91 doeT Fas € ?

(A)  ubsfrw (B) TAH

(€ e (D) (B)TEF ()
Which of the following is conducting tissue ?
(A)  Epidermis (B)  Phloem
(C) Xylem (D) Both (B) and (C)
42. TIISeT IcaSl URTET 1 SRR i A1 € 2

(A) TTEIOT ERT (B) Ta&0T ERI

(C)  STEIT FRT (D) A=A gRT

By which process do protozoans excrete the cx(;retory substance ?

(A)  Osmosis | (B)  Diffusion

(C)  Absorption (D)  Excretion
//J. TYoT & YRR i a8 92t uf &

(A) THERE (B) USRI

C) UgHA /(Di/W

(H-I)112J 1001-Js0) Page 21 of 44




SEEMANCHAL ACADEMY

Largest gland of human body is
(A)  Pancreas (B) Ovary.

(C)  Adrenal (D)  Liver

44. IR 1 Yge S0 @A T

VETh ©

A) e (B)  hiaH

(C) TRa=s ©H9 (D) WiEH
The body is balanced by the organ

(A)  Cerebellum (B) Cranium -

(C) Brain stem (D) Cercbrum

45.  TheiRTeET d B1F ol YIRING TNa i Rl €

(A) SRR (B) URMSH
(C) g (D)  (A) 3R (B) &A1

Change in body in adolescence is due to

(A) Tecstostcrone (B) Estrogen .

(C) Thyroxine (D) both (A) and (B)

(H-1)112J 1001-J50) Page 22 of 44
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48.

SEEMANCHAL ACADEMY

(A)  a@F

(C) Hig

B

(D)

1LY

gl

How many chambers arc there in human hcart ?

(A) Threc
(C) Eight
T FE 2
(A Fas
(c) ued

What is blood ?

(A) Tissuc

(C) Matter

S v F T T 2

(A)  TEe

() S~

(B)

(D)

(B) -

(D)

(B)

(D)

(B)

(D)

Four

Two

T § HI3 T

Cell

None of these

(H-1)112J

1001-Jis0)
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SEEMANCHAL ACADEMY

The word ‘Gene’ was coined by
(A)  Mendel (B) Darwin
\}G] Johannscn (D)  Lamarck
49. TR T S A B WNER YAF A T §, e A €
(A) 39 /IB’] 4rq
(C) 3urg (D) s
Such clements which release electrons and form positive ions are known as
(A) Mctalloids (B) Metals
(C) Non-metals (D) Alloys

50. OB 9T o1 Sifd &<t &) 5haT &) Fed &

(A) T[T = (B) &R
\(}“4 TEa TR (D) Tore e9ueq

The process of coating of zinc on iron is known as

(A) Elcctroplating (B) Corrosion

(C) Galvanization (D) Elcctrolysis

(H-1)112J 1001-Js0; Page 24 of 44
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SEEMANCHAL ACADEMY

~ ﬁa-\]_;r 2NN \\ﬁ %_?

(A)  NaCl (B) CaCl,

(€ CH, (D) Na,O
Which of the following is a covalent compound ?

(A)  NaCl (B) CaCl,

(C) CH, (D) Na,O
ATEOT I ATel FAT &Il €

(A) 24 HLE & (B) 16 T &HI

&/ze%izaﬂ (D) 15 %h{Z oI

Gold which is used to make ornaments is

(A) 24 caral (B) 16 carat
(Q) 22 carat (D) 15 carat
= T SH- 3P a § 2

(n)  TEREH B) fafeee

(C) WA (D) FEH

(H—l) 1 12.J [I 001 -J(SO]—I Page 25 of 44




SEEMANCHAL ACADEMY

Which of the [ollowing is a noble clement ?

(A) lodine (B) Silicon

(C) Argon (D) Bromine
54, AW T 2H & fHsg = wed €

(A) I (B) el

€) o= D) SR

An alloy of copper and tin is known as

(A)  Bronze (B) Brass

(C) Solder (D) Duralumin
\;5_/ R % I w1 TaEfe 9
(A) CaSO, .5H,0 '\(ly CaSO, . ¥%2H,0
(C) CaSO, .2H,O (D) CasO, .H,O
The chemical formula of Plaster of Paris is
(A) CaSO, .5H,0 (B) CaSO,.%2H,O

(C) CaSO, .2H,O0 (D) CaSO,.H,O

(H-1)112J 1001-J(s0) Page 26 of 44




SEEMANCHAL ACADEMY

y 3T 3R MR 3w 1 ayffirar &7 =@

(A)

(&)

(C)

57,/ a=@fa oo H el 8

(A)

MR (B)
R (D)
cacts with base to form

strong base (B)
salt (D)
A Ggd FRgEEA Jaan (B)

y 7Y FRgE eRgEHEd JEAl (D)

In vegetable oils, there arc

(A)

(B)

(C)

(D)

long saturated hydrocarbon chains

long unsaturated hydrocarbon chains

small unsaturated hydrocarbon chains

small saturated hydrocarbon chains

el 3T

strong acid

base

(H-1)112J

[1001-Jis0)
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SEEMANCHAL ACADEMY

y/@qaﬁﬁmﬁwﬁﬁw%?

959.

60.

A) 5 f)/2

€ 3 D) 4
How many isomers of butane are possible ?

@A s B) 2

(C) 3 D) 4

HEHI% & e aw o acr aiieReuT S YR 4T & ?

(A)  wET B T
(C)  URHI] HeE&AT (D)  OXH] S=qHH

What is the basis of the classification of the elements in Mecndeleev’s periodic

law ?
(A) Atlomic radius (B) Atomic density
(C) Atomic number (D) Atomic mass

Mﬁm%mﬁwwmﬁmﬁaﬁﬁwwm%

(A) 31 \JB‘) e |

(G 1:2 D) 1:3

(H-1)112J 1001-J(s0) Page 28 of 44




SEEMANCHAL ACADEMY

The ratio of numbers of atoms of nitrogen and hydrogen in ammonia molccule is

(A) F< (B) 0 R |

€ 1:2 (D) 1:3

61. M A SR Famrr Wza & ?

a) A OE"/W

e

(C) T o) o=
Wﬁich of the following is liquid at room temperature ?
(A) Ethane (B) Ethyne
(C) Ethanol (D) Mecthanc

?/ vt & FreT § SIF-G1 375 U™ ST € ?

(A) TR (B) ERSEAING A
(C) WIS 3T y e o1

Which of the following acids is found in vinegar ?

(A) Sulphuric acid (B) Hydrochloric acid

(C)  Formic acid (D)  Acctic acid

(H-I) 112J 1001-J50) Page 29 of 44




SEEMANCHAL ACADEMY

y/ f= o S FEH & FTRET E ?

64.

65.

() T B) ¥R

© FeRe (D) T q Wl
Which of the following is an allotrope of carbon ?

(A) Graphite (B) Diamond
(C)  Fullerene (D) Al of these

@A)  FEEESt (B) HAWEY

C) ISR (D) “EP

Compounds having same molecular formula but different structural formulae
arc known as

(A) Isomers (B) Allotropes

(C) Catalysts (D) Polymers

fFriferd d s URY g T/l § 2

(A)  UHieH WEIHTAA

(B)
(C) e \1«[)/ ST Earsi

(H—I)  § 12J 1001-Jds0) Page 30 of 44




SEEMANCHAL ACADEMY

Which of the following is not a plant hormone ?

(A)  Ethylenc (B) Cytokinin

(C)  Auxin (D)  Oxytocin

66. T H T-USFA T §

() e \)BT 3R

() afqem (D} CIGE

Malc reproductive organ in plant flower is

(A) Androecium (B) Ovary

(C) Stigma (D) Style

67 Fpfefad 1 frad faded 7@ & & ?

(A FHEr | B) dRH
y/ RTAITEH T (D)  FeAAr |

In which of the following binary fission does not occur ?

(A) Amoeba (B) Yeast

s () Paramoecium (D) Euglena

(H-I)I 12J |T001—J(50) I Page 31 of 44




SEEMANCHAL ACADEMY

68. URRafast &3 3 St = wa §

@ g (B) T

(© = S o) et

The source of energy in ecosystem is

(A)  Air (B)  Sunlight

(C) Rainwater (D)  Soil
69. frfefad & | fFQ ‘errEfe = fmr Fer ST @ 2

(A) I eifem @)/_ R S dee

(C) (D)  SEEHF.

Who among the following is known as ‘Father of genetics’ ?

(A)  Charles Darwin (B)  Gregor Johann Mendel
(C) Lamarck (D) Weismann
70. & UM FEA €
(A)  IEH (B) SUHrEI
(C)  euEew (D) ¥ 9 Wi 76

(H-I) 112J - 1001-Js0) Page 32 of 44




SEEMANCHAL ACADEMY

Green plants are known as

(A)  Producer (B) Consumecr

(C)  Decomposer (D)  none of these

y R-Frmes § Turgd i GET gl §

(A) 22 yy 23

(C) 24 (D) 11

Number of chromosomes in male gamete is

(A) 22 (B) 23
(C) 24 (D) 11
70. 3 Wd 9 S @
yl 22w o (B) TR
() APEIRER H (D)  ZMIREER |

Ozone laycr is found in

(A) stratosphere (B) exosphere

(C) ionosphere (D) troposphere
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73. 1 mA SR AT
(A) 1073 (B)
© 107'A (D)
1 mA is equal to
(A)  107°A (B)
(© 107'A (D)
74. ST HT ITET BIT B
(A) YR aEAr o (B)
(€ foree Sear i (D)
Dicscl is used in
(A) _ Heavy vehicle (B)
(C)]  Electricity gencration (D)
75.  GR ¥ WK Hel Sl TN HA &

(A) T FHl H ﬁ

(€) A9 S A (D)

10724

1074

& o H

EGiske i)

Rail enginc

All of these

Tt He o

foega o1 |
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Solar ccll converts solar cnergy into

(A)  Light energy (B)  Kinetic encrgy

(C)  Thermal energy (D)  Electrical cnergy

76. QA & WHN] G&T §

(A) 29 (B) 89
() 79 (D) 39
The atomic number of Gold is
(A) 29 (B) 89
(C) 79 (D) 39
o F T F A A el 6 2
(A)  =@EF (B) A&dA
(C) WTEA @ TEA (D) TEEM|

Which of the following is not a process of oxidation ?

(A) Combustion (B) Respiration

(C) Digestion of food (D) Precipitation

(H-—I] 112] _ 1001 -Ji50) l Page 35 of 44




SEEMANCHAL ACADEMY

78.  IYSHINH i GANTHAT €

(A) 1 B O

) 2 D) 3

The valancy of oxygen is

A) 1 (B) O

< 2 D) 3
79. 3TN NI & ST T pH HE &1 =TT

(A) 56 B) 56¥FHA

(C) 563 AHs (D) 70

The pH valuc of acid rain should be

(A) 56 (B) lcss than 56

(C) morc then 56 (D) 70

80. dEI & =% H -G 3 U AT ?

(A) TR I B) fafewn s
(C) THHRE® 3t (D)  SATifeTn 3T

Which acid is found in ant-sting ?
(A) Ethanoic acid (B) Citric acid

(C) Mcthanoic acid (D)  Oxalic acid
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EUg - @ / SECTION - B
wifaw e / Physics

Y ITRIT W9 / Short Answer Type Questions
T WG 1 W 8 aw oy I §1 g @ feedt 4wyt & gwe 31 gdw v & kv
2 8% it &1 4x2=8

Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions. Each question

carries 2 marks. 4x2=8

1. IO o H g & S ue svafia shatwa o g o Rafa w2
e
2

i ga1u |

What should be the position of an object in front of convex lens for virtual and
magnified image ? Draw-a neat diagram.

0. U T fade 331 gen fmar 61 &4 2

/

7 T g o gfte 4 T § 7 F6 fheH R % B © 2

Why does coin appear to be raised in water ?

o

What is the defect of vision in human eye ? Name the typces of vision delects.
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4. R e e wow % g W TRRIY 1200 0 ¥ A S 220 V W 9 R foge

YRT &7 ? 2

If the resistance of any electric bulb filament is 1200 ©, how much electric

current is required from source of 220 V ?
\Vﬁ@w%mm@m‘miﬁm'%ﬁmaﬁwl 2
| Write the 'Right hand thumb rule' regarding magnetic effect of current.
6. e T ¥ - < Hhv @ § 2 =
Write two'drawbacks of alternating current.
7. TR 9RT =t Weorar S giesmr € 2
Define the intensity of clectric current.

8. WS % AR & dF vy farivan fod | 2

Write three main propertics of fuse wire.
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e St wew Long Answer Type Questions

g7 WET 9 AT me?a‘am?amg,;q##ﬁm?wwmg,mm%%v

6 3% [EiRe &1

1x6=6

Question Nos. 9 and 10 are Long Answer Type questions. Answer any one of them. Each

I1x6=6

guestion carries 6 marks.

f?ﬂ?aﬁzﬁasaﬁtﬂf}aﬁqw%@#%fﬂnaqﬂhzﬁaﬁwmaﬁm
%Elsﬁ%luﬁwwwa&w@srﬁﬁgﬁwﬁaﬁ%aﬁqﬁﬁﬁﬁﬁmﬁ,

TSI a9l SR AG 6

The radius of curvature of a convex mirror which is used to see the back view in

any automobile is 5 m. If a bus is at a distance of 5m, then find the position,
nature and size of the image.

e =7 ard wE gaee 9 ®ed § 2 UkRY R, R, T Ry Wl UrdsH H
it F7 9 Gaqed ARy 1 T U & | 6
What is parallel combination of resistances ? Find the expression for cquivalent

resistance of parallel combination of resistances R|, R, and R,.
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TYTET WA ) Chemistry
g IWIT WA / Short Answer Type Questions

mﬁwuﬁmma&gwﬁa%lﬁﬁﬁfﬁéf4uﬁﬂ7wilﬁaﬁ%fﬁq

- 2-_-8
2 3% fauifa 4 x

] t'
Question Nos. 11 to 18 are Short Answer Type. Answer any 4 questions. Each question

carries 2 marks. 4x2=8

(}. =1 &1 € 59 co, () = e § varfed fRar S, () i T A (i) ST

aEr sy ? 2

What happené when CO,( g ) is bubbled through lime water (i) in a small

amount (ii) in excess ?
12, SerdieRer sl T ¥ 2 T ST 2
What is neutralization reaction ? Give one example.
13. ol fR¥ wed & ? 2
7What is ductility ?
‘/14. THTEeT Ueshiged ol GoaHT 97 ford | 2

Write down the structural formula of Ethyl alcohol.
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15, I Td Ui et & ween @ %

Write the structural formulae of butanone and ethanoic acid.

16. I &Y S3T T SRIEHOT F47 o T & 2 .
Why are iron objects galvanized ?
17. ST USSR =T ? 5

What is baking powder ?
18,  EaeH Afufsrar s @ 2 2,
What is combination reaction ?

" ST U9 / Long Answer Type Questions
Ty §&T 19 U 20 FF FEdT &1 FH @ fedt vw @7 I9¢ &1 HeE 9vT & g
5 i@ fAEiRa &1 1x5=5
Question Nos. 19 and 20 are Long Answer Type. Answer any one of them. Each question
car-ries 5 marks. I1x5=5
19, YRR T faee 79 e @l fafy @ FERE % 6 39! T ATEiEar i
ford | 5
Write down the laboratory method of preparation of methane and its chemical

reaction with chlorine.
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ﬂ/ TefT YT 1 TSRS SE e @ 4 TR S € 2 5

How is aluminium metal extracted from its ore ?

Sta o= / Biology

oig IWNY WY / Short Answer Type Questions
T WEAT 21 ¥ 28 7% g I &1 g @ At aqyA & I T TAG W F forg
2 3 faife &1 4x2=8

Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions. Each question

carries 2 marks., 4x2=28

21, TR FI& ? 77T & U H 3Oh1 1 Hed ¢ 2 2
What is bile ? What is the significance of bile in human digestion ?

22, AT T E ? THH HIAT T FOA H 2
What is lymph ? Explain its functions.

23, TSiEl % HET IR wE0T ford | 2
Write four main characteristics of living beings.

24. AT ¥ FFae wR & < B & 2 Sk AW auH fed | 2

How many types of teeth are there in human ? Write their names and functions.
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o5, ATSHICESH Te TR0 F 3fev ford 2
Write the differences between transpiration and translocation.
26, AR ST ST T Tees € 2 2

What is the significance of sexual reproduction ?
07. TRy Micral & a) o =ant | 2
Write aboul contraceptive tablets.
28. BHN AHIE § 3% 6 i T8 ? 2
What is the role of acid in our stomacﬁ i
g 39U U9 / Long Answer Type Questions
o¥T §&dr 29 U 30 3 FwHT &1 3 @ fat vE @7 A7 &1 WeAF 59 & [y
5 3 freifea &1 1x5=5

Question Nos. 29 and 30 are Long Answer Type. Answer any one of them. Each question

carries 5 marks. 1x5=25
29. ﬁﬁw@sﬁwaﬁmwaﬁaaﬁ#mﬁaﬁwﬁl 5

Describe the process of photosynthesis in plant with the help of labelled

diagram.
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30. Wﬁmmwmqmwmqﬁaaﬁﬁm%? 5

How does the transportation of oxygen and carbon dioxide take place in huma

being ?

WWW.SEEMANCHALACADEMY.COM
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